






Part- C 

Mathen1atics (English Medium) 

Question Numbers 31 to 50 

31. In th.e figure, lines AD and BC are parallel.
\·\i11at is the angle ABC ?

D 

B 

(A) 60°

(B) 70°

(C) 110° 

(D) 120° 

.12. Which of the product below is equal to 
1.37x5.7? 

(A) 0.137 x57

(B) 137X 0.570

(C) 0.137 X 0,57

(D) ·1.37x57

903 E 

33. The area of a square is 484 square
centimetres. Then what will be the area of

the figure got by joining the mid points of the
sides of the square ?

(A) 242 cm2

(B) 121 cm2

(q 88 cm2 

(D} 484 cm2 

34. In a triangle all the measures of sides are
natural numbers. 011e side of the triangle is
11 centimetres and the second side is
7 centimetres. What is the possible third side
of the triangle ?

(A) 1 centimetres

(B) 2 centimetres

(C) 4 centimeb'es

(D) 5 centimetres

35. Which of the following number bas exactly
6 factors?

(A) 45 

(B) 53x 72

(C) 71 5

(D) 3 X 5 X 7 X 11 
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